AN W LW
~NO O
oo N
SS8
Z= <
= £
o
=
£
o
—
=3
>
-
o E
S
U2 O
C e o
o 73
c £ o
‘N @ =
:ate
+— O
c >
O n©
N Ie
Mm,n_nv
]
332
%b
Q%
o
¥

S/PELI

©
RS -
- 0 M
5 £ s
: - £
3 @©
m .m.W. o
- O —Hlurl —
c & =
S € No 5
58 8 E 2
@ N N % E &
25 o8 . N
] o°
=] S 5
2 £ Sk i
2.5 2E S
o] o & 2
-0
@© Q e ] o
Zwn © 3 8 -
! Zow . o=
m ) N
s | Q _
i\ ‘ ‘
<
D 2
< S <
3 S %
- £ N E
D © g Q.w
5% " 3
§8 5S¢ 5
N N =
©
3§ 38 g
[
S E Qg Qo
C = - !
=]
S & SE S
eS8 .5 S
© Q %S s
Zn s ' o
y Z v m
< n.v :
[11] S

SN

s
=]



JOHN SPENCE
Sticky Note
Installation Manual
SMART FIX sliding system
for glass door with sidelight

JOHN SPENCE
Sticky Note
A - on wall, without doorframe, 
with side stop, AL pelmet

JOHN SPENCE
Sticky Note
B - on wall, with doorframe, 
with side stop, AL pelmet

JOHN SPENCE
Sticky Note
C - on wall, without doorframe,
with side stop, wood pelmet

JOHN SPENCE
Sticky Note
D - on wall, with doorframe, 
with side stop, wood pelmet

JOHN SPENCE
Sticky Note
E - in opening, without doorframe, AL pelmet

JOHN SPENCE
Sticky Note
F - in opening, with doorframe, AL pelmet


=

nosnik FIX

0o

kolejnice "

E AL gelo kolejnice 85

N

upeviiovaci lista

E U profil + tésnéni

Eboénl krytka U profilu

o

PUR t&snénf

>

aové podloZka 5x10x30

o
L

E dr24k bogni krytky

E bogni krytka L+P

RS

a.lb M8x40 + kontramatka

_E vrut 3x13

BN

S

E Sroub M5x12

distan&ni oblozka i doraz bez zérubnd ?
Efevéna gamyz E podloZka
N0,

E hmozZdinka 8x40

E hmoZzdinka 8x50

E voditko

W
("@(~

E vrut 5x40

E vrut 4x60 ¥

E klig¢ 13

" . vrtani dilu dle zplisobu pouZiti - na st&nu nebo do otvoru
- poéni doraz je volitelny dil, dod4va se pouze je-li objednano
% . dodava se k volitelnému bo&nimu dorazu

Pocty kust jednotlivych komponent se uréuji dle délky posuvu, poctu kfidel,
nebo poétu boénich svatlika.



JOHN SPENCE
Sticky Note
FIX track mount 1)

JOHN SPENCE
Sticky Note
track 1)

JOHN SPENCE
Sticky Note
AL pelmet 85

JOHN SPENCE
Sticky Note
sidelight mounting trim

JOHN SPENCE
Sticky Note
U profile + seal

JOHN SPENCE
Sticky Note
U profile end cover

JOHN SPENCE
Sticky Note
PUR seal

JOHN SPENCE
Sticky Note
plastic shim 5x10x30

JOHN SPENCE
Sticky Note
hanger for glass door

JOHN SPENCE
Sticky Note
end cover bracket

JOHN SPENCE
Sticky Note
end cover L + R

JOHN SPENCE
Sticky Note
carriage with damper + activator

JOHN SPENCE
Sticky Note
bolt M8x40 + locknut

JOHN SPENCE
Sticky Note
screw 3x13

JOHN SPENCE
Sticky Note
screw 5x70

JOHN SPENCE
Sticky Note
casing extension

JOHN SPENCE
Sticky Note
side stop without doorframe 2)

JOHN SPENCE
Sticky Note
side stop for doorframe 2)

JOHN SPENCE
Sticky Note
wood pelmet

JOHN SPENCE
Sticky Note
slide block nut M5

JOHN SPENCE
Sticky Note
washer

JOHN SPENCE
Sticky Note
screw 3,5x45 3)

JOHN SPENCE
Sticky Note
screw 5x50

JOHN SPENCE
Sticky Note
screw M5x12

JOHN SPENCE
Sticky Note
wall plug 8x40

JOHN SPENCE
Sticky Note
wall plug 8x50

JOHN SPENCE
Sticky Note
wall plug 6x50

JOHN SPENCE
Sticky Note
floor guide

JOHN SPENCE
Sticky Note
screw 5x40

JOHN SPENCE
Sticky Note
screw 4x60 3)

JOHN SPENCE
Sticky Note
spanner 13

JOHN SPENCE
Sticky Note
1)	- component drilled according to installation, i.e. on wall or in opening
2) 	- side stop is optional and supplied only if ordered
3) 	- supplied for optional side stop

Individual component quantities determined by slide length, number of door leaves, and/or number of sidelights.


E do 65 kg

< b5 = min. 640 mm »

E do 90 kg

b5 = min. 810 mm

A
A

/nl'\ll1 7 7

E do 130 kg

\ A

< b5 = min. 850 mm



JOHN SPENCE
Sticky Note
up to 65 kg

JOHN SPENCE
Sticky Note
up to 90 kg

JOHN SPENCE
Sticky Note
up to 130 kg


@ FIX na sténu bez zarubné - A, C

AN
D
+
>
a
o

hk =

obv +T20

h5 =

E FIX na sténu se zarubni - B, D

nosnik licuje s horni hranou zarubné a s bo¢ni hranou dorazu

obv + 20

h§ =

b1 S b4 =b1-94 | e
b5 = ob% + 70 b5 = ob% +70
b1
E b1 - Sitka stavebniho otvoru
bS - objednaci Sirka h1 - vySka stavebniho otvoru
obv - objednaci vySka b4 - prachozi Sitka zarubné
pb1 - piesah kolejnice pres otvor b5 - Sifka celosklenéného kridla
hk - vySka horni hrany nosniku kolejnice h5 - vyska celosklenéného kfidla
oBD - osa vrtani pro boéni doraz od otvoru <7 - smér otvirani
@ E Pfipevnéni boéniho dorazu - na sténu se zarubni - B, D

detail 2a



JOHN SPENCE
Sticky Note
FIX on wall (without doorframe - A, C)

JOHN SPENCE
Sticky Note
FIX on wall (with doorframe - B, D)

JOHN SPENCE
Sticky Note
track mount level with top edge of doorframe and outer edge of side stop

JOHN SPENCE
Sticky Note
obš	- order width
obv 	- order height
pb1 	- track overhang beyond opening
hk   	- track mount top edge height
oBD 	- side stop drill axis from opening

JOHN SPENCE
Sticky Note
b1	- building opening width 
h1	- building opening height
b4	- doorframe passage width
b5	- glass leaf width
h5	- glass leaf height
- 	- open direction

JOHN SPENCE
Sticky Note
Installing side stop (on wall with doorframe - B, D)


E Pfipevnéni distandni oblozky - na sténu se zarubni - B, D

detail 4b



JOHN SPENCE
Sticky Note
Installing casing extension (on wall with doorframe - B, D)

JOHN SPENCE
Sticky Note
Installing FIX track mount (on wall with doorframe - B, D)


E Pfipevnéni nosniku FIX - na sténu bez zarubné - A, C

detail 5a

obv + 92

hk

detail 5b

] T

detail 6a

N

Y
-
N

Z

detail 6b



JOHN SPENCE
Sticky Note
Installing FIX track mount (on wall without doorframe - A, C)

JOHN SPENCE
Sticky Note
Installing side stop (on wall without doorframe - A, C)

JOHN SPENCE
Sticky Note
vyhodit distanční


E Pripevnéni kolejnice na nosnik FIX - na sténu - A, B, C, D

detail 7a

detail 8a detail 8b

E NataZeni tlumi€e do pracovni polohy

detail 8d

Vsunuti aktivatord a tlumiéd do kolejnice



JOHN SPENCE
Sticky Note
Attaching track to FIX track mount (on wall - A, B, C, D)

JOHN SPENCE
Sticky Note
Pulling damper into operating position

JOHN SPENCE
Sticky Note
Inserting activators and dampers into track


do otvoru - E, F

detail 9a

detail 9b



JOHN SPENCE
Sticky Note
Installing track (in opening, E, F)

JOHN SPENCE
Sticky Note
without doorframe - E

JOHN SPENCE
Sticky Note
with doorframe - F

JOHN SPENCE
Sticky Note
Attaching FIX track mount with PUR seal to track (in opening - E, F)

JOHN SPENCE
Sticky Note
PUR seal


E Mont4Z U profilu - na st&nu bez zarubné - A, C

detail 11a

detail 11b

detail 12a

detail 12b



JOHN SPENCE
Sticky Note
Installing U profile (on wall without doorframe - A, C)

JOHN SPENCE
Sticky Note
Installing U profile (on wall with doorframe - B, D)


otvoru bez zarubné - E

E Montaz U profilu - do

detail 13a
N ~
. N
~ /
[~
detail 13¢
|
’ ) Sk Ia,sx45 '
0 ‘
S
~ 6x50 \\\\
\\\:\\\\\ : \\
\i\ \ |
S|
@6 ¥

>

svisly U profil 3
AN —

Al A

detail 13b

AN

N detail 13d

26

3,5x45

Montaz U profilu - do otvoru se zarubni - F

detail 14a

detail 14b

detail 14c

10



JOHN SPENCE
Sticky Note
Installing U profile (in opening without doorframe - E)

JOHN SPENCE
Sticky Note
Installing U profile (in opening with doorframe - F)


sténu-A, B, C, D

iku FIX - na

Montaz bo&niho svétliku - A, B, C, D, F

@ = Nalepeni PUR t&snéni k nosn



JOHN SPENCE
Sticky Note
Adhering PUR seal to FIX track mount (on wall - A, B, C, D)

JOHN SPENCE
Sticky Note
PUR seal

JOHN SPENCE
Sticky Note
Installing sidelight - A, B, C, D, F


detail 17b

detail 18a

12



JOHN SPENCE
Sticky Note
Installing sidelight seal + U profile end cover - A, B, C, D, F

JOHN SPENCE
Sticky Note
Installing sidelight (in opening without doorframe - E)


@ = Tésnéni bo¢niho svétliku + krytka U profilu - do otvoru bez zarubné - E
- ]

detail 19a

detail 19b

detail 19¢

detail 20a detail 20b

detail 21a

13



JOHN SPENCE
Sticky Note
Installing sidelight seal + U profile end cover (in opening without doorframe - E)

JOHN SPENCE
Sticky Note
Installing hangers for glass door (A, B, C, D, E, F, G, H)

JOHN SPENCE
Sticky Note
Hanging door on carriages (A, B, C, D, E, F, G, H)


B,C,D,E,F

fidla - A

E Serizeni a za;jisténi k

detail 22a

detail 22b

detail 23a

detail 23b

B,C,D,E,F

7 voditka - A

= Monta

detail 23¢

(=

14



JOHN SPENCE
Sticky Note
Adjusting and securing door (A, B, C, D, E, F)

JOHN SPENCE
Sticky Note
Installing floor guide (A, B, C, D, E, F)


@ E Nastaveni aktivatoru pro polohu zavieno - A, B, C, D, E, F

detail 24a

ZAVRENO
GESCHLOSSEN
CLOSED

\

@ Nastaveni aktivatoru pro polohu otevieno -A, B, C, D, E, F
detail 24a

OTEVRENO
OFFEN
OPEN

15



JOHN SPENCE
Sticky Note
Adjusting activator for closed position (A, B, C, D, E, F)

JOHN SPENCE
Sticky Note
Adjusting activator for open position (A, B, C, D, E, F)


0
~
N
i

[
o

detail 26b

detail 26a
detail 27a

r24ku bo&ni krytky - na sténu - A, B

Vsunutid



JOHN SPENCE
Sticky Note
Attaching wood pelmet (C, D)

JOHN SPENCE
Sticky Note
Inserting end cover bracket (on wall - A, B)


@ Nasazeni Gela AL garnyze a bo¢ni krytky - na sténu - A, B

detail 28a

detail 28b

|
\

detail 29a

detail 29b

CLICK! | CLICK!
="
Al

17



JOHN SPENCE
Sticky Note
Attaching AL pelmet and end covers (on wall - A, B)

JOHN SPENCE
Sticky Note
Attaching AL pelmet (in opening - E, F)




